
Steps:     (1) Divide      (2) Multiply      (3) Subtract      (4) Bring down the next number      (5) Repeat if needed

(1) (2) (3)

68026669 97562907 35707909

(4) (5) (6)

49741193 49339730 47339979
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Steps:     (1) Divide      (2) Multiply      (3) Subtract      (4) Bring down the next number      (5) Repeat if needed

Also see our Worksheets and Walkthroughs video: "Division - Traditional Long Division Algorithm Method Word Problems"

(1) (2) (3)

68026

101 R457

669
- 669 ( 1 x 669 )

112
- 0 ( 0 x 669 )

1126
- 669 ( 1 x 669 )

457Remainder -->

97562

107 R513

907

- 907 ( 1 x 907 )

686
- 0 ( 0 x 907 )

6862
- 6349 ( 7 x 907 )

513Remainder -->

35707

39 R256

909

- 2727 ( 3 x 909 )

8437
- 8181 ( 9 x 909 )

256Remainder -->

(4) (5) (6)

49741

257 R140

193
- 386 ( 2 x 193 )

1114
- 965 ( 5 x 193 )

1491
- 1351 ( 7 x 193 )

140Remainder -->

49339

67 R429

730
- 4380 ( 6 x 730 )

5539
- 5110 ( 7 x 730 )

429Remainder -->

47339

48 R347

979
- 3916 ( 4 x 979 )

8179
- 7832 ( 8 x 979 )

347Remainder -->
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